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E | AEXIALR 2 = AIS|AF (EHRIE )
1 20249 6 E 30 7|E
Z A FHXE M (A=Aa+Ab+Ac) 13,479,256
L2 | XIA7|RH2 (Aa) 8,225,000
DAL T Q XHE(AD) 3,497,845
=Y ESEXT|F 161,085
SHESI
J|E} FSHEXI7| R 1,399,468
=X}l ol f Al 1,937,292
IFAA2EELXHE (A 1,756,411
QAKX HQl X2 -
e2sH ZHA B AR XK 2 -
J|E} EXIERZAl £ 1,576,780
Heff Mool 382, 342,
27|, X|WRX TRl B )
EEE Hejarigol HE530| AAA _
L= AA+Q BR
aele 3% -
7128 MAEXSH -
ez
EIALR S RE SRS 59,518
7|EtE A -
ZH A 1,636,298
ol & -
ESVEN 120,113
F AR B(A=Aa+Ab+AC) 13,479,256
KA HAXE M 2(B=Aa+(Ab+Ac) * 50%) 10,852,128






